EfE X RBRX

— g5t
SMIEIAIBEE (G M)
S | LEE HIEE B
I EEDER
1. RBVEE
HeEE 1,459,594 454,892 1,004,702
KINAE 7,505 7,530 A 25
RBEESET (A 1,467,099 462,422 1,004,677
2. BIEERE
(HEKREAE
EHFEE® 57,000,000 57,000,000 0
EAXBESET B) 57,000,000 57,000,000 0
QFDDEEE E
EBEE 4,813,785 4,813,785 0
EHFEE 30,000,000 30,000,000 0
TDMDOETEEESE (C) 34,813,785 34,813,785 0
BEEESE (D)=(B)+(C) 91,813,785 91,813,785 0
BES/E BE)=AHD) 93,280,884 92,276,207 1,004,677
I BEDE
1. RBIAE
*iL & 1,023,576 151,332 872,244
EYE A 61 0 A 61
REBBESET P 1,023,515 151,332 872,183
2. BlEEE
BEBESE Q) 0 0 0
BESE H=(F+G) 1,023,515 151,332 872,183
I IEBRBAEDER
1. IBE IEBRELE
FEEERBETESET (D=(B) 57,000,000 57,000,000 0
GObEKRBE~ADTHED) (57,000,000) (57,000,000) (0)
OB EEE~DILHEE) (0) (0) (0)
2. —RRIERRBAE (D)=(E)-(H)-(D) 35,257,369 35,124,875 132,494
ERBEESET K=0D+) 92,257,369 92,124,875 132,494
BERUVEKRMESSH (L=(H)+K) 93,280,884 92,276,207 1,004,677
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I BEDE
1. REVEE
HEHEE 2,685,479 1,808,133 877,346
FRILA £ 513,753 358,861 154,892
REBEESE A 3,199,232 2,166,994 1,032,238
2. BIEEE
(MZFDLEEEE
FTHMETEEESE B) 0 0 0
BEEEEE (C)=B) 0 0 0
EESF D)=(A)+(C) 3,199,232 2,166,994 1,032,238
I BEDE ,
1. REaE
*xiE 7,646,917 6,948,619 698,298
FIHERE 840,800 305,700 535,100
FIEANTRE 72,000 124,400 A 52,400
54Dk 4 232,073 167,309 64,764
REIBESET 6B 8,791,790 7,546,028 1,245,762
BEAEE P=E 8,791,790 7,546,028 1,245,762
I ECKEAEDER
1. I§TFE IERRBAE
IBEELRBIESE (@) 0 0 0
ObLEKRME~DITHEE) (¥)] 0) 0)
ObLBEEEE~DILEE) (0) (0) (0)
2. —RRIEREAE (H)=(D)-(F)-(G) A 5592558 A 5,379,034 A 213524
IEBREAESET (D=(G)+(H) A 5592558 A 5379034 A 213524
BERUVIEKMESR (W=F)+D 3,199,232 2,166,994 1,032,238




SMIEIAIIHERTE (B A)
oy B —Be it Al E & &t
I EEDH
1. RENVEE
HEEE 1,459,594 2,685,479 4,145,073
RIRAE 7,505 513,753 521,258
REVEESE (A 1,467,099 3,199,232 4,666,331
2. EEEE
(MEKEAE
EHTEE 57,000,000 0 57,000,000
HARBIESET B) 57,000,000 0 57,000,000
QFDOETEERE
LEae 4,813,785 0 4,813,785
EHTEE 30,000,000 0 30,000,000
FOMDOEEEESE (O 34,813,785 0 34,813,785
BEEEEEE D)=B)+(C) 91,813,785 0 91,813,785
BEESE E)=A+HD) 93,280,884 3,199,232 96,480,116
I 8EO
1. RBAE
KihE 1,023,576 7,646,917 8,670,493
KILVEHETRE 0 840,800 840,800
Fhik AT 0 72,000 72,000
JEU® A 61 232,073 232,012
REBaEEE E 1,023,515 8,791,790 9,815,305
2 BEaE
BEE&EEE @ 0 0 0
BEAE H=(F+G) 1,023,515 8,791,790 9,815,305
I IERRBAEDER
1. e IERRES
fEEERBESET O 57,000,000 0 57,000,000
OBERBE~ADFTEHER) (57,000,000) (0) (57,000,000)
OB EEE~DTHEE) (0) (0) (0)
2. —PRIEBRBAZE (I)=(E)-(H)-®D) 35,257,369 A 5592558 29,664,811
ERBFESET K=D+J) 92,257,369 A 5592558 86,664,811
BERUVEKRMESE L)=H)+K) 93,280,884 3,199,232 96,480,116




